Py 48 | s |

W@{M, celu Wpdr ).a()(a(-cj éq%ﬁou lan déscw‘he,
T Sifvechion. — &  Capcitor ~
hok (&5 vey wsefd  oucvoss M«vu3 Covikects .
Ou+ QPp'vocgc,\a o Sé\uwj LA(a\oaw‘s QO(VKM
Weeds 4= bLe Tewm\ie-e& y 80 Hua b we

can tbldle ~Q22yzo wit j\\,«u& Hovnda
Couditivis \Qw Move M\ C\‘@U\A—Ls;ug(.eg.

Y4 Mis(m\- Le At \fC\c,Bt‘-'L) is G{U\‘-‘—ﬂ-
QDM(D\TC 141&3 e Deve. Cases 7 o= M;.)\st
LE' ( o own

L mb‘?—* %"L bus\- ‘—\’(Ap‘,\r— \J:B
&ch;\ves A_ v«-b:j M%‘cvw'*c,\-e_é %c—sr o &

cases -

VCX,‘S,%) = (-R/woﬁovl D[‘X)k (Q\&b'\’(ﬂuf Fuvz_ahcvl aLJ)*
(aus-\h.w Lovetion of %)

for cxanple , o~ sinly) cos (2) Juk peal

need oo

Bt Huis tont e silohow | wne (-

Pl Mt it M S\/L‘\' he Sowmg Combpnuaki au(MM\

ot Ruehisws (e i3,

We will fud wsivtj%u ovsocte (3%553
N(x,y2) = Ao \/(j) 2@ will sslwe V=4

p—

tn Wy QUSES: -



Pl 49 SR | e

We will o5Hen 36%@\&&4& a Ronal 3ol Ut
Uﬁ,-iuj \-WWS a()(woa.c(k ‘-uwu\' \M.:tAé"" be ,U.cétLLA
+0 ouv béd% con= s — '-HA.[s

Will gel dae Ttk weon Coustats aud
jevu—fm-\{ dov 6)@«\-‘(},\/‘_0\.-» <O ld‘\‘iom 2

.-':"\’(‘/»Cs n-l—ec,\‘\b\ia[u__z_ Vs called
§€&(“&"‘\"DV\ o \/u/io\(oK-eS
Gud s owe \@ Uusefol Jdecnique -C‘-svso\w:)
Qe = SArfhe el Q1WJVNM~
>

:‘Easim\%, o A—uj V0¥, y,2) & Xe 7(31}(;\
\'C’ (L Vue\f\(—S \«// F‘BOU‘*-’A“K‘j comditoes v ("\‘S

Ouvv 30\.;/‘\"70% ( uw:clv&uess juc\-r.n,uc"-{-QS (__\,‘-)
(F i fails pok o soe of uuchoucs works,

VW okl VeVt e D)
So lce{-é gee Wow 4*%‘5 [jo.e,s wH—(A' A 60&1‘1«&«
:Vl &yul—ési«\w COOV‘O(('W.&LJ-QS

> Z
—Q(L\/ = %+%—% + %%”:O
— ) PV XY o
oy V=Xos Yoy 260 wole G i Jy2e
e %

‘)thM\ ot { degendu
Aledvafre  demudnae

Waw we o alss gqood! Ceeall: Supe st




Py 481 e | s

5o g i - e Xm\f(q)if%)
3(\,«45 \,sz

X'(x) Jo) 2(2) + J"@ Yy 2(2) + 2 (2) X(x)%j;a

W\""""L )<" e g?—f- we il ql{w‘ol{, ha'u’l Sd-es

hy V=XY2  4oqek,
o SREL et AU
i Vi) T Ew

-v

eUV\L Ut"%chou el o

of % of Y ot2
4 C)\‘c\ce\r Geaatec L)+ 3 (3) W) =0

Wit Hags  Jest O , We Find Hhat
each piece X/x Mot be ezm( do a

lonslant-! 5o,

(f
___Q.(/”—-C i—:c 2":(3
i mmek e z

We wdveed ovr ‘)vokluw Ko Do !u"mj Hwee

ovdi wavy \

S.{W‘?lt Z/wf-\: 6vde” ck ot hal .éol ceflows \

. . 2
’Do%(ﬂl—l' X/,(x) = C, X(X) [bo\é -(;qu\m/! ;
T+ Was Vi siwple saltons. ‘

9)




pc""{‘fg( ’ 51{) oﬁVGwi«ch.s l ‘ 1-/
X”(x\f C(X(x) Was e 3@(!1,(0& 56\.0("43%)

C X ‘\(Z\‘)C
X(x)= Re Jax, Be
K—— 1 and orde ]
& o pudehtncined  cowshats ( IDE
Clickey @ws+£a43 What  do solokiaas el
\ile S ¢ >0 ? Cycio

\’p'* C\ 70) J.ETK -S_C_';K

e 4—3@

Q)‘@O“—C\C"{Q‘ -(;mm
l'c C\<O 7 uAL ju\' QW\A\C—Y -ef‘kM-Lv-‘j'fq,(S

""(A.r.,\— Cow\.bc_ wmn e as St Lcos
\Asi"‘s‘“«-- Tole Moo

A sew (Frx) « B as(Ic, x)
e == wiae we b a siwple \iceas Fometrina
BT+BY
We famed sur 3D PPE b 3 (easy) ODSs
B Qe cest ure Qaj (s lety ofF ankuwouw
Conss, Yo Y SWL\,:] O Liv olaic i e s e
R courdtsus T delyui—e .

e

u)(.% s-quﬂL l«)llt\ K ZD ﬂqvkﬂ",w

-@[Cllulo,-(, 4o 2—9} a sense of e prcess
e UWse fo oletrmine Fhe  Coeh fants.

S e Wil e V= gl Wt
V(X,j) (f~f~/ Vo %’depwtcicuzc-e).

PM‘)‘C&(% / et $6"U‘0 Sowo‘—(dwzj Wit Fovaa
2 SeiMak Vl.b~(/('\3"j vavies 'u Hat dire ion..




L R R
Exaple
= oytSlU-e/ A M(J«//c'c 5‘7uawcju#er #mrL{/v/mJS
42 e, -
—We wil gvomd hw sdes of %’(70""‘.1((/‘ [v=0)
and Gl He boHon, fo haue a w/v‘?c i (x).
= 'vﬂ% bsFlaiivs  pesdladod o tleasie walls,

% Tuside Hae qubier

(6<x<e) ’,sMJr:]

(& %> VQ\IT'O "(’6\40\-2
A =N o () (r\u*\-pS\ﬁLL-\') it
%c‘:j chAC-\’\“oM
\fC\cf,o)Jvo == 3ﬂ?“w4°0( {
\/(Xfo\,:Po) =) ﬁfbuvtsl(,o[(.
\/(0<x<q/ o) :\/o(X) *PN{,A V’DH"wBA
V ( a"‘j X, ‘3"3*9> =0 "\Mmkuﬂj reasowals (e 17/(_
il(lfu.'ulcj fav fowe "ot
Sheet .
WC \Aau—c, e BCs L 7 ) et 0o "Z—-—dcecw&mc

Wi fovmt 1wz bl oo evlent .
Cov (mlo(cw 'S ZD, \/(¥,‘j):?

WMJ V=0

)

e \/[x/‘j):? lets —Luj

\C\\ \\‘»,L
/Y’:;_ri_:\j V(xy) = X(x)\/(j) l.
2 4%




ﬂt(/'l 1{9( ‘ &{bm.b@, cﬁ Vanhbd é

Sq\{v«.‘n'm o Varables will afuu. ;

X'tV = ¢ X6 ad Yo=Yy
with (#C, =0 S0 ¢ =-C(!

Which ove s ()b%l"H\A.e? ¥ Olicker Ghosshon
We caun  uwse M o\u»lsh.s ay Hio \nouw&uﬁj
Pre il hee o g
which s v qued Yo we will meer

have X =0 o X()=o!

C| ewlss e sodl b/(, Ca,w-l M»/ﬁ.e, /—
Vamxk atb O L a ualess s taonagcw..jwlw.,,

ST e
We Wa” Cau C! = -—\42 ‘o Clcav'lj ‘udicate
Pt it s 4 wgakwe (oustonk | 5o,

' 3
C,':—C( =8 S a‘)s‘;l"b'\r\(.

s |

W (x) = Ast (lx) + Beos(kx) {
‘j(j)) = & e =
1S M 3\uvuml v how , bt we Uawe
N Loe & cends  aud k fo dbeiming ! |

Luk( wse Ovik BowAV:J CM«J«‘huu.s :




iter | St | - 7

() V(x=0) hos +o vauish as e (et wal
(5 qrovned .

& X(oy= 0 which wuaus /

%[‘)\’ Asim(o) +Ba5(q) =-TR=0
Wi,
XC‘K): )(5‘“\%6

@ \/(‘3—500) \'kds-‘-oVamt‘s\& eSS UL O FWCW.L‘LJ
v P Hal Vel shaet

S0,
Wj—wo)to wWhich waans,
Yly) = D™
SD GuUYr %\uhovx "H/lUS 'FUM (S,

W",‘j)" Xm‘fc«j) = Psiu (kx)@c-k‘j
- Clomene™S  CAD so

A Cowstunt.
@ V(¥:a) —/0) as Y /*i’]m— wal | ts
?fbw\de(i 5

50/ / -Kj
C'sin(ka)e” I =0 for any 4.

C'#0 Yo Fhat Makes V(v,Y)=o
for all X&U.[uol—'}'\uc oc'ovuf—o!>
S what do we do? - by )
X (oker fueshon: whowdoes Sulla)e Vol




Pl Y251 | e | 2

Do o (ka)=0 s k= W/ will
dp W dmck VJL\&M VLS aWJ [wk:]cr (vw»o)
(n=0 &s had dud V<O is we diffeant).

S Wedoie 604— -

\J(X,j) = C’e:“k‘3 Sint (kx) with k=% o (u =73

[V\.:o 3C~H—S jow \/'=D J whidhh ¢ e joo& =
<o ¢ : :
VBSOS e w sdohvn wive c\twa,t o(: stcyxa@c 4

OW sl ion Sa.‘\‘\‘s ch L\A()(QC«&S dlzuaf'l‘d\a
and  alwosk  4ll of o k)mdotj Con i hoves
€1ch(a¥ \/(xjszc)} =\ ().

- %o £ Vix,0)= C/snix) =Volx)
We ave foune |t And we e \}Cy,\j)
"Bu\' w\,\_a:k F Vo()ﬂ AT Sowe;\‘l/uj Q\St!

We aonlt she ab&.
Clicker Gusbor AV £4 V) 7

———

A ncer  Combinakion ol V a4 Vl ' %14] ")o(fl/l
“Worle" ﬁ he o %owhvn as It SoA-JSC-j

Cou \

heplace ,
YV bV, ) = VeV, +v%v7_ =0+0=0

—]




P tpl | GoolVaibleg | 7

TMI\M ot W \/U\\l‘{, LNU‘j sa{u\’l\o\fl-s\

tov o fud—«a,er “,
\ , (uﬂ BLANTZS
K(X/\j) = C(«_ Stwn (=¥ (&
Calihns WU T B0 Ew e
56,

: oS _tt N
\f(x,‘j)fé Valoy) = chsm(u??()@ Sis

n=1
q‘év satisfes VV=0 o 3 BCG

Can we pick ol G5 5o Hank V(x0) =Vo(x) !

—E W COLV‘-} unre SBL ouv SO\U“"(W\.‘.

NGl =0 s () e’ = 6 s
= n

ecall Vo(x) >

o2 . [ nTX
G sl =R e ik Would e o
WZ n ( a ) o ) (@wwﬁm h‘om“

¥ ums out duwe 1S an iuderal  pehod

0alled “Fovviers Mick ik WALl 7¢t us wlad
W wed and ‘et us Houd ¢ Sor
.t W‘el( “chlM" Va(ﬁ):s. 71‘!’

0’5(/{4@;/ Mbt ﬁerCwJ(,r g Siut (2)() 3i%(3")ol)(

— = 5
40U vhers /ﬁ\c l<

Hie Fouchevis S\‘w( V'C’g(‘) Gue @ C°w‘@(~e,3r—e
oronermal seb o6 fmedtoveg

Q e
FEERDRN AT o Wl
i%wz A )Sm(“&‘)d)c = gq/?_ el




DUM 491 l &{\ o EVonabless l /0

L(A’g‘ WS< 'MM‘S)

Vo(¥) = icnsm(“&)‘)

/'Wl"'i()j el Sides bj 5M( ) qud u{‘f)(u-(-( S 0
S Sin (" )V, ()i ja,zc st (M2 Vst (Vs

, a
50 Volx) sen(B2) = T e, S st [VEX Y ST
i Q\/V\ ———

O wn#n’

5 x

i‘ i=wn

Q
Sb V‘D(X) S;m(“{.& ')d):__._ c"/ %’_ 5&1

| Ca= F [ wmselZ x|

sk Wil g ws \/(y,\j) WUAJ\JMVU-(’

0° wi
V) < Ze, Sy e

2=

s Ciz "S\ V, () Sm( Trx)clx
&__ asHCee u\a_:)\l'b(x)

veteds: o b v e N iE e &

Ba




s 01 S e //

,)..,d’S S«j V ( KS =V, U CG%&’J‘WVL{'
{)olmkm

; =—i—:—fvo st (V4 = Lo Ss‘w(m)gx
= 40 Cob(ﬂ—x)}

a

Cvx = —.3_1.\—:-: ((ns(n‘u’)——l)

59,
C,: '—Z_\_/.Q (-—Z): LLV—" S ,”2\/"

—
J’“ 3%0\&\/«,( ; 4
Vo =
Cnou = am Qevcu =0

Vi y 2:‘ 4Vo Lt T/

Mlao,

PSS Ukja] bor £ QK«LL'\’ W("dodb H’%
C e e b el s (X\!

s,

. I




